DOU YEE ENTERPRISES (S) PTE LTD PERIOD : END-JAN 2019

NAME : MD FAUZI BIN MD RAZALI EMPLOYEE# : 34026

DEPT : SHIPPING						
DESCRIPTION	HOURS / DAYS	RATE	EARNINGS		S/DAYS DEDUCTION	
BASIC WAGES			2,360.00	EMPLOYEE CPF	-1,520.	
OT1.5C	15.15	18.57	281.34	RECOVERABLE	-500.	
OT1.5L	5.35	18.09	96.78	MOSQUE MENDAKI BLDG FUND	-22.	.00
DELIVERY INCENTIVI	E		264.00			
BONUS *			4,600.00			
OTHER REIMBURSEN	MENT-HANDPHON	E	10.00			
TOTAL EARNINGS	SGD		7,612.12	TOTAL DEDUCTIONS SGD	-2,042	2.00
				Salary Info Current Month Ea	rning	
				NETT PAY 5,5	70.12	
				1	12.12	
				CPFWAGE 7,6	02.12	
				EMPLOYER CPF 1,2	93.00	
				EMPLOYEE CPF 1,5	20.00	
PAYSLIP FOR	: 01/JAN/2019	TO 31/JA	N/2019			

DOU YEE ENTERPRISES (S) PTE LTD PERIOD : END-FEB 2019

NAME : MD FAUZI BIN MD RAZALI EMPLOYEE# : 34026

DEPT : SHIPPING					
DESCRIPTION	HOURS / DAYS	RATE	EARNINGS	HOURS/DA	YS DEDUCTIONS
BASIC WAGES			2,360.00	EMPLOYEE CPF	-550.00
OT1.5C	10.80	18.57	200.56	MOSQUE MENDAKI BLDG FUND	-6.50
DELIVERY INCENTIV	/E		190.00		
OTHER REIMBURSE		E	10.00		
TOTAL EARNINGS	SGD		2,760.56	TOTAL DEDUCTIONS SGD	-556.50
TOTAL EARNINGS	360		2,760.56		
				Salary Info Current Month Earning	
				NETT PAY	
				CPFWAGE 2,750.56	
				EMPLOYER CPF 468.00	
				EMPLOYEE CPF 550.00	
B 4 4 6 1 5 5 5 5	. 04/555/0010	TO 00/FF	D/0040		
PAYSLIP FOR	: 01/FEB/2019	10 28/FE	B/2019		

DOU YEE ENTERPRISES (S) PTE LTD PERIOD : END-MAR 2019

NAME : MD FAUZI BIN MD RAZALI EMPLOYEE# : 34026

DEPT : SHIPPING						
DESCRIPTION	HOURS / DAYS	RATE	EARNINGS	HOUF	RS/DAYS	DEDUCTIONS
BASIC WAGES			2,360.00	EMPLOYEE CPF		-633.00
OT1.5C	26.08	18.57	484.31	MOSQUE MENDAKI BLDG FUND		-15.00
DELIVERY INCENTI	VE		322.00			
OTHER REIMBURSI		E	10.00			
TOTAL EARNINGS	SGD		3,176.31	TOTAL DEDUCTIONS SGD		-648.00
				Salary Info Current Month E	arning	
				NETT PAY 2,	528.31	
					176.31	
					166.31 539.00	
					633.00	
PAYSLIP FOR	: 01/MAR/2019	TO 31/M	AR/2019			
				<u> </u>		

DOU YEE ENTERPRISES (S) PTE LTD PERIOD : END-APR 2019

NAME : MD FAUZI BIN MD RAZALI EMPLOYEE# : 34026

DE 1 . CI 1					
DESCRIPTION	HOURS / DAYS	RATE	EARNINGS	HOURS/DAY	S DEDUCTIONS
BASIC WAGES			2,360.00	EMPLOYEE CPF	-661.00
OT1.5C	32.28	18.57	599.44	MOSQUE MENDAKI BLDG FUND	-15.00
DELIVERY INCENTIV	E		348.00		
OTHER REIMBURSE	MENT-HANDPHON	E	10.00		
TOTAL EARNINGS	SGD		3,317.44	TOTAL DEDUCTIONS SGD	-676.00
				Salary Info Current Month Earning	
				NETT PAY 2,641.44	
				GROSS WAGE 3,317.44	
				CPFWAGE 3,307.44 EMPLOYER CPF 563.00	
				EMPLOYER CPF 563.00 EMPLOYEE CPF 661.00	
				20.100	
PAYSLIP FOR	: 01/APR/2019	TO 30/AP	R/2019		

DOU YEE ENTERPRISES (S) PTE LTD PERIOD : END-MAY 2019

NAME : MD FAUZI BIN MD RAZALI EMPLOYEE# : 34026

DEPT : SHIPPING					
DESCRIPTION	HOURS / DAYS	RATE	EARNINGS	HOURS/DA	YS DEDUCTIONS
BASIC WAGES			2,360.00	EMPLOYEE CPF	-609.00
OT1.5C	22.92	18.57	425.62	ADVANCE PAY	-590.00
DELIVERY INCENTI	VE		264.00	MOSQUE MENDAKI BLDG FUND	-15.00
MEDICAL FEE _3RD	PARTY FEE		442.39		
OTHER REIMBURSI	EMENT-HANDPHON	E	10.00		
TOTAL EARNINGS	SGD		3,502.01	TOTAL DEDUCTIONS SGD	-1,214.00
				Salary Info Current Month Earning	]
				NETT PAY 2,288.01	
				GROSS WAGE 3,502.01	
				CPFWAGE 3,049.62 EMPLOYER CPF 519.00	
				EMPLOYER CPF 519.00 609.00	
PAYSLIP FOR	: 01/MAY/2019	TO 31/M/	AY/2019		
				·!	

DOU YEE ENTERPRISES (S) PTE LTD PERIOD : END-JUN 2019

NAME : MD FAUZI BIN MD RAZALI EMPLOYEE# : 34026

DEPT : SHIPPING						
DESCRIPTION	HOURS / DAYS	RATE	EARNINGS		HOURS/DAYS	DEDUCTIONS
BASIC WAGES			2,360.00	EMPLOYEE CPF		-615.00
OT1.5C	23.92	18.57	444.19	MOSQUE MENDAKI BL	.DG FUND	-15.00
DELIVERY INCENTI	VE		274.00	ADVANCE PAY		-590.00
MEDICAL REIMBUR	RSEMENT		39.00			
OTHER REIMBURSI	EMENT-HANDPHON	E	10.00			
TOTAL EARNINGS	SGD		3,127.19	TOTAL DEDUCTIONS	SGD	-1,220.00
				Salary Info Currer	nt Month Earning	
				NETT PAY	1,907.19	
				GROSS WAGE	3,127.19	
				CPFWAGE	3,078.19	
				EMPLOYER CPF EMPLOYEE CPF	524.00 615.00	
				Limi LOTEL OF	013.00	
PAYSLIP FOR	: 01/JUN/2019	TO 30/JU	N/2019			